
 

 

 

Number Systems: Exercise 1.6 
 
 
 

Q.1   Find   (i) 
1

264      (ii) 

1

532         (iii) 

1

3125  
Sol. 

(i)      =  
1

28  8  =  22
1

8  = 

1
2x

28  = 81 = 8 

(ii)   

1

532   =  
1

52  2  2  2  2    =  55
1

2  = 

1
5x

52 = 21 = 2 

(iii)  

1

3125  =  
1

35 5 5  =  33
1

5  = 51 = 5 

 
 
 

Q.2   Find:   (i) 

3

29          (ii) 

2

532           (iii) 

3

416          (iv) 

1

3125


 
Sol. 

(i)    

3

29  =  
3

23 3  =  22
3

3  = 

3
2x

23  = 33 = 3×3×3 = 27 

(ii)   

2

532 =  
2

52 2 2 2 2    =  55
2

2  = 

2
5x

52 = 22 = 2×2 = 4 

(iii)  

3

416  =  
3

42 2 2 2    =  44
3

2  =

3
4 x

42 = 23 = 2×2×2 = 8 

(iv)    

1

3125


 = 
1

3

1

125

 =

 
1

3

1

5 5 5 

 = 

 
1

33

1

5

 = 
1

5
 

 
 
 

Q.3 Simplify:  (i) 

2 1

3 52 2.       (ii) 

7

3

1

3

 
 
 

  (iii) 

1

2

1

4

11

11

  (iv) 

1 1

2 27 8.  

 
Sol. 

(i)    

2 1

3 52 2.  = 

2 1

3 52


 = 

10 3

152



= 

13

152  

(ii)   

7

3

1

3

 
 
 

= 
 

7

2x7

1

3
=

21

1

3
 

(iii)  

1

2

1

4

11

11

 = 

1 1

2 411


 =

1

411  

(iv)   

1 1

2 27 8. =  
1

27 8  =  
1

256   

 


